SIitS

— comfortable life

Instrukcja montazu
Assembling Instruction

Montageanleitung

linstruction de montage

KARLA

J8)( 1

strona/page/Seite 2

no 145A

g M8x25 8,5%22
o35 A x3 B x3
strona/page/Seite 2
no 141 A
) M Q
° WSI M6x16 L-4 $30x2
= C x2 D x1 E x1
b 32

strona/page/Seite 3

no 141 B

v O

()
- WSI M6x16 L-4 $30x2
@ C x2 D x1 E x1
0 32
strona/page/Seite 3
no 152
§ $30x2
E x1
35/35
strona/page/Seite 4

US 5x35

G x1

1

03-2023



strona/page/Seite 4

@ no 153

145

@45x3
F x1

045/32

O

$30x2
E x1

strona/page/Seite 5

strona/page/Seite 5

@ no 141
QO

K~
- $30x2
E x1
248/32

strona/page/Seite 5

@ no 187 Q

2 $20x2
H x1

035/25

2

03-2023




03-2023




03-2023



0000000



3-sits delad / 3 SEATER two parts

| L A option 1 option 2
I FC LCV
7

@@ &=

M8x40 8,5x22

B x3

d

%1’ I
6 i -

03-2023




10

0000000



0000000



03-2023




15

16

Zachowaj instrukcje / Please keep instructions / Bewahren Sie die Anleitung / Merci de garder Finstruction

10

SITS Sp.z 0.0. ,ul.Sikorskiego 60 , 87-300 Brodnica , POLAND

03-2023




